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Directions (1 —9) : In each of the following 
questions, select the related letter/word/number 
from the given alternatives.  
1.  9 : 80 : : 100 : ?  

(a) 901  (b) 1009  
(c) 9889  (d) 9999  

2. 25 : 125 : : 36 : ?  
(a) 180  (b) 206  
(c) 216  (d) 318  

3. 335 : 216 : : 987  : ?  
(a) 868  (b) 867  
(c) 872  (d) 888  

4. BEGK : ADFJ : : PSVY : ?  
(a) ROUX (b) ORUX 
(c) LQUT (d) LOQT 

5. AZBY : CXDW : : EVFU : ?  
(a) GTHS (b) GHTS 
(c) GSTH (d) TGSH 

6. BDFH : SUWY : : CEGI : ?  
(a) QTWZ (b) PTVX 
(c) JLNP (d) TVXZ  

7. food : man : : fuel :  ?  
(a) wood  (b) fire  
(c) heat  (d) smoke  

8. Spiritual : Belief : : Orchestral : ?  
(a) Theatre  (b) Situation  
(c) Music  (d) Direction  

9.  Latter : Former : Hazardous : ?  
(a) Risky  (b) Comfortable  
(c) Safe (d) Harmful  
Directions (10 —18) : In each of  the following 

questions, find the odd word/number/letters/ 
number pair from the given alternatives.  
10.  (a) VWY (b) QRT 
 (c) LMO  (d) JKL  
11.  (a) BE (b) GJ 
 (c) NP (d) QR 
12.  (a) 400  (b) 484  
 (c) 625  (d) 729  
13.  (a) 1000  (b) 1725  
 (c) 2744  (d) 4096  
14.  (a) 12 -16 (b) 60 -80 
 (c) 30 -50 (d) 36 -48 
15.  (a) CX (b) DW 
 (c) JQ (d) LR 
16.  (a) Cyclotron  (b) Basic  

 (c) Pascal  (d) Fortran  
17.  (a) Rooster  (b) Buck  
 (c) Gander  (d) Peahen 
18.  (a) Booklet  (b) Pamphlet  
 (c) Voucher  (d) Brochure  
19.  Which word will appear th ird in the dictionary ?  

(a) BALLIUM  (b) BALLISTICS  
(c) BALLERINA  (d) BALLISTITE  

20.  Which word will appear last in the dictionary?  
(a) Laugh  (b) Latch  
(c) Laurels  (d) Latitude  

21.  Arrange the given words in a meaningful order :  
1.  INFANT 2. ADOLESCENT  
3. CHILD  4. OLD 
5. ADULT  
(a) 3, 1, 2, 4, 5  (b) 1, 3, 2, 5, 4  
(c) 3, 2, 4, 5, 1  (d) 5, 4, 3, 2, 1  
Directions (22 —23) : In each of the following 

questions, which one set of letters when 
sequentially placed at the gaps in the given 
letter series shall complete  it ?  
22.  c _ ab _ ca _ bc _ a  

(a) b c a b  (b) a b c b  
(c) b a c b  (d) c b a c  

23.  _ ba _ ba c _ acb _ c _ a 
(a) b a a a  (b) c c b a b  
(c) b a b b  (d) a b a b  
Directions (24 —27) : In each of the following 

questions, select the missing number from the  
given responses.  
24.  500, 484, 459, ? , 374  

(a) 384  (b) 432  
(c) 418  (d) 423  

25.  MNOPWXYZRSTUBCD ?  
(a) A (b) E 
(c) I (d) F 

26.  60, 69, 85, ? , 146  
(a) 110  (b) 117  
(c) 109  (d) 120  

27.  46, 50, 47, 55, 49, 61, ?  
(a) 54  (b) 52  
(c) 57  (d) 51  

28.  The average a ge of 25 subordinates in an office 
is 30 years. If the age of Manager is added, the 
average increases to 31 years. What is the age of 
the Manager ?   
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(a) 26  (b) 36  
(c) 46  (d) 56  

29.  Class A has students twice that of class B. After 
adding 20 students to cl ass A and 30 students 
to class B, the total number of students in both 
the classes is 140. What is the number of 
students in class A in the beginning ?   
(a) 30  (b) 60  
(c) 80  (d) 140  

30.  Find the lowest number which when divided by 
8, 12, 15 and 20 leaves the remainder 2.  
(a) 360  (b) 242  
(c) 122  (d) 82  

31.  If B becomes A and Q becomes P, what will K 
become in the English alphabet ?  
(a) L (b) J 
(c) H (d) N 

32.  The given word is followed by 4 responses, one of 
which cannot be formed by using the letters of 
the word given 'CAMBRIDGE'. Find out the 
word.   
(a) BRIDGE  (b) BRIDE  
(c) CAME  (d) CAMP 

33.  If SEASONAL is written as ESSANOLA, how can 
SEPARATE be written in that code ?  
(a) SEAPARET (b) ESPARATE 
(c) ESPAARTE (d) ESAPARET 

34.  In certain code, RAGHAVAN is written as 
GARVAHNA. In that code which word will be 
written as MATHAVAN ?  
(a) TAMVAHNA  (b) TAMVAHAN  
(c) TAMHAVNA  (d) MATVAHNA  

35.  If 'FRIEND' is coded as 'IULHQG', how will you 
code 'ENEMY' ?  
(a) HQHPB  (b) HQHPA 
(c) HQEMY  (d) HQHPG 

36.  In a coded langua ge, if the word EQUATION is 
coded as GSWCVKQP, then how is the word 
DONKEY coded ?  
(a) FQPMGA (b) YEKNOD  
(c) GWCVKJ  (d) PQKUCW 

37.  If 38 + 15 = 66 and 29 + 36 = 99, then 82 + 44 = 
? 
(a) 77  (b) 88  
(c) 80  (d) 94  

38.  If + means ÷ , - means × ,  ×  means +, ÷  means - 
give the value for 45 + 9 – 31 ×  5 ÷  2     
(a) 208  (b) 168  
(c) 148  (d) 158  
Directions (39 —40) : In each of the following 

questions, select the missing number from the 
given responses.  
39.  7 8 6  
 4 9 5 
 3 2 ? 
 25  70  29  

(a) 9 (b) 8 
(c) 1 (d) 5 

40.  3 4 5 
 6 7 8 
 9 1 2 
 57  11  ? 

(a) 42  (b) 21  
(c) 11  (d) 18  

41.  From the given details, estimate the number of 
people effected by Tuberculosis in particular 
locality in the year 1994.  

 1994  1995  1996  1997  1998  
 ? 92  113  141  176  

(a) 99  (b) 85  
(c) 71  (d) 78  

42.  A man started from a place walked towards 
North for 5 km then turned 90° to his right and 
walked another 5 km. Then he turned 45° to his 
right and walked 2 km and turned 45° to his left. 
What is his direction now ?     
(a) South  (b) South East  
(c) East  (d) South West  

43.  A boy running towards South, turns to his right 
and runs. Then he turns to his right and finally 
turns to his left. Towards which direction is he 
running now ?  
(a) East  (b) West  
(c) South  (d) North  
Directions (44 —45) : In each of the  following 

questions, one statement is given, followed by 
two conclusions I and II. You have to consider the 
statements to be true even if they seem to be at 
variance from commonly known facts. You have 
to decide which of the given conclusions, if any, 
fol low from the given statements.  
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44.  Statement :    To keep myself updated, I 
always listen to 9 O'clock news 
on radio.  

 Conclusions :  I. The person does not read 
newspaper.  

   II.  Recent news is available only 
on radio.  

(a) Only conclusion I is implicit   
(b) Only conclusion II is implicit  
(c) Neither conclusion I nor II is implicit  
(d) Both conclusions I and II are implicit  

45.  Statement :    All wealthy people are happy in 
life.  

 Conclusions :  I. Wealth and happiness are 
directly related.  

   II.  Wealth leads to happiness in 
life.  

(a) Only conclusion I follows.  
(b) Only conclusion II follows.  
(c) Both conclusions I and II follow.  
(d) Neither conclusion I nor II follows.  
Directions (Q. 46) : In each of the following 

questions, which answer figure will complete the 
question figure ?  
46.  Question Figure :  

  
 Answer Figures :  

  
(a) (b) (c) (d)  

47.  From the given answer figures, select the one in 
which the question figure is hidden/embedded.  

 Question Figure :   

   
 Answer Figures :  

  
(a) (b) (c) (d) 

Directions : In the following question, a piece 
of paper is folded and cut as shown below in the 

question figures. From the given answer figures, 
indicate how it will appear when opened.  
48.  Question Figures :   

  
 Answer Figures :  

  
(a) (b) (c) (d)  

49.  Select the correct option that will be the mirror 
reflection of the problem figure.  

 Question Figure :  

  
 Answer Figures :  

  
(a) (b) (c) (d)  

50.  In the following question, a word is represented 
by only one set of numbers as given in any one 
of the alte rnatives. The sets of numbers given in 
the alternatives are represented by two classes of 
alphabets as in two matrices given below. The 
columns and rows of Matrix I are numbered 
from 0 to 4 and that of Matrix II are numbered 
from 5 to 9. A letter from thes e matrices can be 
represented first by its row and next by its 
column, e.g., 'P' can be represented by 11, 32 
etc. and 'K' can be represented by 65, 78 etc. 
Similarly, you have to identify the set for the 
word 'SALM'.  

       MATRIX -I                  MATR IX -II  

     
(a) 55, 20, 56, 59  (b) 79, 13, 69, 75  
(c) 96, 34, 76, 89  (d) 67, 21, 85, 97  

51 . Select the figure which satisfies the same 
conditions of placement of the dots as in Figure -
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X. 

  
52 . Select the figure which satisfies the same 

conditions of plac ement of the dots as in Figure -
X. 

  
53 . Select a suitable figure from the four alternatives 

that would complete the figure matrix.  

  
54 . Select a suitable figure from the four alternatives 

that would complete the figure matrix.  

  
55 . Group the given fig ures into three classes using 

each figure only once.  

  
 A. 2,4,7 ; 1,8,9 ; 3,5,6  
 B.  2,6,9 ; 1,5,7 ; 3,4,8  

 C. 2,6,7 ; 1,5,8 ; 3,4,9  
 D.  2,8,7 ; 1,5,9 ; 3,4,6  
56 . Group the given figures into three classes using 

each figure only once.  

  
 A. 1,3,5 ; 2,6,9  ; 4,7,8  
 B.  2,3,4 ; 5,6,8 ; 9,1,7  
 C. 1,3,5 ; 2,6,8 ; 4,7,9  
 D.  3,2,4 ; 6,5,8 ; 7,9,1  
57 . Find out which of the figures (1), (2), (3) and (4) 

can be formed from the pieces given in figure (X).   

  
58 . Find out which of the figures (1), (2), (3) and (4) 

can be formed from the pieces given in figure (X).   

  
59 . Select the alternative which represents three out 

of the five alternative figures which when fitted 
into each other would form a complete square.  

  
 A. 123  B. 234  
 C. 134  D. 235  
60. Select the alter native which represents three out 

of the five alternative figures which when fitted 
into each other would form a complete square.  

  
 A. 123  B. 134  
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 C. 135  D. 345  
61 . Choose the set of figures which follows the given 

rule.  
 Rule:  The series becomes simpler  as it proceeds.  

  
62 . Choose the set of figures which follows the given 

rule.  
 Rule:  As the circle decreases in size, its sectors 

increase in number.  

  
Directions ( 63 -64 ): Study the following arrangement 
and answer questions given:  
B L $ 4 # G A 8 P X Y  ������ ���Ã���1���
���6�������#���'���0��� �������
�������&���)��
6 
63 . How many such numbers are there which are 

immediately followed by a symbol and 
immediately preceded by letter?  

 (a) Four  (b) Two 
 (c) None (d) One 
64 . If all the symbols are dropped from the above 

arrangement, then wh ich is ninth from the right 
end? 
(a) N (b) 2 

 (c) 7 (d) S   

 Directions ( 65 -66 ): Choose the correct alternative 
from the following  
65 . Assertion (A):  Downpour of rain lessens the 

humidity in the atmosphere.  
 Reason (R):  Rains are caused when atmosphere 

can not hold more moisture.  
 Option:  
 A. Both A and R are true and R is the correct 

explanation of A.  
 B. Both A and R are true but R is NOT the 

correct explanation of A.  
 C. A is true but R is false.  
 D. A is false but R is true.  
66 . Assertion (A): Unpolished  rice should be eaten.  
 Reason (R):  Polished rice lacks Vitamin B.  
 Option:  
 A. Both A and R are true and R is the correct 

explanation of A.  
 B. Both A and R are true but R is NOT the 

correct explanation of A.  
 C. A is true but R is false.  
 D. A is false b ut R is true.  
 E. Both A and R are false.  
67 . You are a sincere and dedicated manager in a 

reputed five -star hotel. You have been appointed 
as the Chief Manager of the Guwahati branch 
which needs to be developed.Your Salary has 
been hiked.  

 A) You give it a shot for 2 months and see how it 
goes  

 B) You accept the challenge and go ahead with 
the project  

 C) You accept another offer and leave the job   
 D) You crib for limited resources and try to 

convince the superior to send somebody else 
instead of you  

68 . Which one of the following is always found in 
'Wonder'?  

 A. Crowd  B. Lumber  
 C. Astonishment  D. Rustic  
69 . Disclosure always involves  
 A. Agents  B. Display  
 C. Exposition  D. Secrets  
Directions ( 70 -71 ): Each of the following questions 
contains a small para graph followed by a question on 
it. Read each paragraph carefully and answer the 
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question given below it.  
70 . The school has always been the most important 

means of transfe rring the wealth of tradition 
from one generation to the next. This applies 
today in  an even higher degree than in former 
times for, through the modern development of 
economy, the family as bearer of tradition and 
education has become weakened.  

 This passage best supports the statement that 
for transferring the wealth of tradition from o ne 
generation to the next - 

 A. there are means other than the school.  
 B. several different sources must be tried.  
 C. economic development plays a crucial role  
 D. modern technology must be put to use.  
71 . Emerson said that the poet was landlord, 

Sealord , airlord. The flight of imagination made 
the poet master of land, sea and air. But a poet's 
dream of yesterday becomes today an actual 
achievement and a reality for all men. Even those 
who invented, improved and perfected the 
aeroplane could hardly have d reamt of the 
possibility of flight into outer space.  

 The passage best supports the statement that:  
 A. seemingly impossible imaginations make one 

a good poet,  
 B. all imaginations become a reality some day.  
 C. what man imagined has never been 

impossible ; he has always turned it a reality 
through his conception of ideas and sheer hard 
labour.  

 D. man has reached the climax of technological 
development with his exploration into outer 
space. 

Directions ( 72 -73 ): Below in each of the questions 
are given two s tatements I and II. These statements 
may be either independent causes or may be effects 
of independent causes or a common cause. One of 
these statements may be the effect of the other 
statements. Read both the statements and decide 
which of the following a nswer choice correctly depicts 
the relationship between these two statements.   
72 . Statements:  
 I. The employees of the biggest bank in the 

country have given an indefinite strike call 
starting from the third of the next month.  

 II. The employees of the Ce ntral Government 
have withdrawn their week long demonstrations.  

 A. Statement I is the cause and statement II is its 
effect.  

 B. Statement II is the cause and statement I is 
its effect.  

 C. Both the statements I and II are independent 
causes.  

 D. Both the statements I and II are effects of 
independent causes.  

73 . Statements:  
 I. Police resorted to lathi -charge to disperse the 

unlawful gathering of large number of people.  
 II. The citizens' forum called a general strike in 

protest against the police atrociti es. 
 A. Statement I is the cause and statement II is its 

effect.  
 B. Statement II is the cause and statement I is 

its effect.  
 C. Both the statements I and II are independent 

causes.  
 D. Both the statements I and II are effects of 

independent causes.  
 Dire ctions ( 74 -75 ): In each question below is given a 

statement followed by two courses of action 
numbered I and II. You have to assume everything in 
the statement to be true and on the basis of the 
information given in the statement, decide which of 
the sugge sted courses of action logically follow(s) for 
pursuing.  
74 . Statement:  The Asian Development Bank has 

approved a $285 million loan to finance a project 
to construct coal ports by Paradip and Madras 
Port Trusts.  

 Courses of Action:  
 I. India should use fin ancial assistance from 

other international financial organisations to 
develop such ports in other places.  

 II. India should not seek such financial 
assistance from the international financial 
agencies.  

 A. Only I follows  
 B. Only II follows  
 C. Either I or  II follows  
 D. Neither I nor II follows  
75 . Statement: The Minister said that the teachers 
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are still not familiarised with the need, 
importance and meaning of population education 
in the higher education system. They are not 
even clearly aware about their  role and 
responsibilities in the population education 
programme.  

 Courses of Action:  
 I Population education programme should be 

included in the college curriculum.  
 II Orientation programme should be conducted 

for teachers on population education  
 A. Onl y I follows  
 B. Only II follows  
 C. Either I or II follows  
 D. Neither I nor II follows  

 Directions (Q. No. 76 -77 ): Study the following digit -
letter -symbol sequence carefully and answer the 
questions given below:  
 R * T J L 2 $ D = M # 8 C % B < K 1 & A W ? P E 

+ Q @ 7 F 6  
76 .  Four of the following five are alike in respect of 

their positions in the above series. Which is the 
one that does not belong to that group?  

 (a) Q * 8  (b) £ R F  
 (c) 6 2 C  (d) 2 * 8  
77 . S K £ is related to 9 W B in the same way as Q  2 

* is related to  
 (a) a V U  (b) a Y 5  
 (c) 7 B Y  (d) B Y V  
Directions ( 78 -79 ): Each question given below 
consists of a statement, followed by two arguments 
numbered I and II. You have to decide which of the 
arguments is a 'strong' argument and which is a  
'weak' argument.  
78 . Statement:  Should young entrepreneurs be 

encouraged?  
 Arguments:  
 I. Yes. They will help in industrial development of 

the country.  
 II. Yes. They will reduce the burden on 

employment market.  
 A. Only argument I is strong  
 B. Only argu ment II is strong  
 C. Either I or II is strong  
 D. Both I and II are strong  
79 . Statement:  Should all the annual examinations 

up to Std. V be abolished?  
 Arguments:  
 I. Yes. The young students should not be 

burdened with such examinations which 
hampers the ir natural growth.  

 II. No. The students will not study seriously as 
they will get automatic promotion to the next 
class and this will affect them in future.  

 A. Only argument I is strong  
 B. Only argument II is strong  
 C. Either I or II is strong  
 D. Both  I and II are strong  
Directions ( 80 -81 ): In each question below is given a 
statement followed by two assumptions numbered I 
and II. You have to consider the statement and the 
following assumptions and decide which of the 
assumptions is implicit in the stat ement.  
80.  Statement:  A warning in a train compartment - 

"To stop train, pull chain. Penalty for improper 
use Rs. 500."  

 Assumptions:  
 I. Some people misuse the alarm chain.  
 II. On certain occasions, people may want to stop 

a running train.  
 A. Only assum ption I is implicit  
 B. Only assumption II is implicit  
 C. Either I or II is implicit  
 D. Both I and II are implicit  
81.  Statement: If it is easy to become an engineer, I 

don't want to be an engineer.  
 Assumptions:  
 I. An individual aspires to be professio nal.  
 II. One desires to achieve a thing which is hard 

earned.  
 A. Only assumption I is implicit  
 B. Only assumption II is implicit  
 C. Either I or II is implicit  
 D. Neither I nor II is implicit  
Directions ( 82 -83 ): In each question below is given a 
statem ent followed by two conclusions numbered I 
and II. You have to assume everything in the 
statement to be true, then consider the two 
conclusions together and decide which of them 
logically follows beyond a reasonable doubt from the 
information given in the statement.  
82.  Statements:  The Government run company had 
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asked its employees to declare their income and 
assets but it has been strongly resisted by 
employees union and no employee is going to 
declare his income.  

 Conclusions:  
 I. The employees of this co mpany do not seem to 

have any additional undisclosed income besides 
their salary.  

 II. The employees union wants all senior officers 
to declare their income first.  

 A. Only conclusion I follows  
 B. Only conclusion II follows  
 C. Either I or II follows  
 D. Neither I nor II follows  
83 . Statements:  Monitoring has become an integral 

part in the planning of social development 
programmes. It is recommended that 
Management Information System be developed 
for all programmes. This is likely to give a 
feedback on the  performance of the functionaries 
and the efficacy with which services are being 
delivered.  

 Conclusions:  
 I. All the social development programmes should 

be evaluated.  
 II. There is a need to monitor the performance of 

workers.  
 A. Only conclusion I follo ws 
 B. Only conclusion II follows  
 C. Either I or II follows  
 D. Both I and II follow  
Directions ( 84 -85 ): In each of the questions below 
consists of a question and two statements numbered 
I and II given below it. You have to decide whether the 
data provide d in the statements are sufficient to 
answer the question. Read both the statements and  
84.  Question:  How many children are there between 

P and Q in a row of children ?  
 Statements:  
 I. P is fifteenth from the left in the row.  
 II. Q is exactly in the midd le and there are ten 

children towards his right.  
 A. I alone is sufficient while II alone is not 

sufficient  
 B. II alone is sufficient while I alone is not 

sufficient  

 C. Either I or II is sufficient  
 D. Both I and II are sufficient  
85.  Question:  How is T related to K?  
 Statements:  
 I. R's sister J has married Ts brother L, who is 

the only son of his parents.  
 II. K is the only daughter of L and J.  
 A. I alone is sufficient while II alone is not 

sufficient  
 B. II alone is sufficient while I alone is not 

suf ficient  
 C. Either I or II is sufficient  
 D. Both I and II are sufficient  
Directions ( 86 -88 ): Study the following information 
carefully and answer the questions given below:  
When an input line of words is given to a word 
arrangement machine, it rearranges them following a 
particular rule in each step.  
Input: car some pour tie more in bee goat.  
Step I: goat car some pour tie more tin bee.  
Step II: goat more car some pour tie tin bee.  
Step III: goat more pour car some tie tin bee.  
Step IV: goat more pour some  car tie tin bee.  
Step V: goat more pour some bee car tie tin  
and Step V is the last output.  
86.  If the 2nd step of an input is:  coat some for die 

song kill bit son, which is certainly the input?  
 A. for come die song kill coat bit son  
 B. for die come so ng kill coat bit son  
 C. for die song come kill coat bit son  
 D. Cannot be determined  
87.  Input:  door site may for you mean now goal :  
 Which of the following is the 3rd step of the 

above input?  
 A. door goal mean site for may now you  
 B. door goal mea n site may for you now  
 C. door site goal mean may for you now  
 D. None of these  
88 . Input:  mute deal sit cut coat day long for:  
 Which of the following will be the 4th step?  
 A. coat deal mute sit cut day long for  
 B. coat deal long mute sit cut day for  
 C. coat deal long mute cut sit day for  
 D. coat deal long mute cut day for sit   
Directions (Questions 89  to 91 ): An organization 
wants to recruit Trainee Officers. Following are the 
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criteria.  
The candidate must  
 (i) be not less than 21 years of age and not  more 

than 28 years of age as on 1. 2. 2009  
 (ii) be a graduate in any discipline with at least 

55% marks.  
 (iii) have secured at least 50% marks in selection 

test.  
 (iv) have secured at least 45% marks in 

interview.  
 (v) be willing to work anywhere in In dia.  
 However, if the candidate satisfies all the above -

mentioned criteria except  
 (a) at (ii) above but is a postgraduate, the case is 

to be refereed to the Executive Director.  
 (b) at (i) above but has working experience of at 

least one year the case is  to be refereed to the 
Vice - President.  

 In each of the question below, information of one 
candidate is given. You have to take one of the 
following five decisions based on the information 
provided and the criteria and condition given above. 
You are not b e assume anything other than the 
information provided in each question. All these to 
indicate your decision by marking answer to each 
question.  
89 . Nisha Sharma has passed B.Com with 57% 

marks in July 2008. She has secured 48% marks 
in interview and 58% ma rks in selection test. 
She is willing to work anywhere in India. She 
completed 25 years of age in November 2008.  

 A. if the case is to be referred to Executive 
Director.  

 B. if the case is to be referred to Vice President.  
 C. if the dada in the statement is not adequate to 

take a  
 D. if the candidate is to be selected.  
 E. if the candidate is not to be selected.  
90.  Bhavesh Shah is a post -graduate in chemistry 

and is working in a chemical company for the 
past one year. He had scored 53% marks in 
graduation . He has secured 58% marks in 
selection test and 52% marks in interview He is 
26 years old at present. He is willing to work 
anywhere in India .  

 A. if the case is to be referred to Executive 

Director.  
 B. if the case is to be referred to Vice President.  
 C. if the dada in the statement is not adequate to 

take a decision.  
 D. if the candidate is to be selected.  
 E. if the candidate is not to be selected.  
91. Shamika is a 23 years old Science Graduate who 

passed in August 2008 with 52% marks. She is 
willing to work anywhere in India. She has 
cleared the selection test with 66% marks and 
interview with 56% marks.  

 A. if the case is to be referred to Executive 
Director.  

 B. if the case is to be referred to Vice President.  
 C. if the dada in the statement is not  adequate to 

take a decision.  
 D. if the candidate is not to be selected.  
92 . Select from the five alternative diagrams, the one 

that best illustrates the relati onship among the 
three classes :  Truck, Ship, Goods  

 
93.  Amongst the following words, which w ill appear 

fourth in the dictionary?  
 (a) Merry  (b) Mermaid  
 (c) Meritorious  (d) Merit  
94.  Bala is younger than Rita. Rita is younger than 

Kala. Kala is elder than Nila. Nila is younger 
than Bala. Who is the youngest  of all of them?  

 (a) Rita  (b) Kala  
 (c) Bala  (d) Nila  
95.  Kathir is senior of Ganesh. Ganesh is senior 

than Apparu. Apparu is junior of Raju. Raju is 
junior of Ganesh. Who is the most senior?  

 (a) Ganesh  (b) Raju  
 (c) Kathir  (d) Apparu  
Directions (96 -100):  Study the following information 
carefully and answer the questions given below it:  
 Ten executives A, B, C, D, E, F, G, H, I and J 
stay in flats in two rows opposite each other. One row 
has 5 flats facing North and the other row has 5 flats 
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facing South. F’s flat is second to the right of  J’s flat, 
which is exactly opposite of C’s flat facing North. D’s 
flat is on the immediate left of J’s flat and A’s flat is 
on the immediate left of C’s flat. B’s flat is on the 
right of C’s flat. I and E have flats at the two ends of 
the same row. Flats of E and H are opposite each 
other.  
96. Which of the following is the correct position of 

G’s flat?  
 (a) Facing North               (b) Opposite C’s flat  
 (c) To the left of F’s flat  (d) To the left of J’s flat  
97. Who stays opposite B?  
 (a) F  (b) G 
 (c) D (d) F or G     
98. Which of the following statements is definitely 

true?  
 (a) J’s flat is facing North.  
 (b) G and A have flats opposite each other.  
 (c) B’s flat is to the right of E’s flat  
 (d) G’s flat is to the left of J’s flat.  
 99. Which of th e following groups of persons have 

flats in the same row?  
 (a) ACG (b) GIE 
 (c) GJF  (d) FAJ 
100. Which of the following pairs of executives stay in 

the flats at the ends of a row?  
 (a) FD (b) HD  
 (c) HG (d) None  
101.  Who propounded the theory of ‘Drain of wealth’ 

from India to Great Britain ?  
 (a) Gopal Krishana Gokhale  
 (b) Dadabahai Naoroji  
 (c) Surendranth Banerjee  
 (d) Lala Lajpat Rai  
102.  The first Governor General of the East India 

Company in India was  
 (a) Robert Clive  (b) Sir John Shore  
 (c) Warren  Hastings  (d) Marquis of Hastings  
103.  Find the correct match:  
 I  II  
  A. Abdul Gaffar Khan  1. Mahatma  
 B. Dadabhai NaoroJi  2. Frontier Gandhi  
 C. Mohandas Karam  3. Grand Old Man of ln  
 chand Gandhi dia       
 D. Rabindra Nath  4. Gurudev  
 Tagore 

 (a) A-3,  B -1, C -4, D -2 
 (b) A-2,  B -3, C -1, D -4 
 (c) A-4,  B -1, C -2, D -3 
 (d) A-2,  B -1, C -3, D -4  
104.  In which year, first Punjabi Printing Press was 

established?  
 (a) 1844  (b) 1835  
 (c) 1864  (d) 1874  
105.  Harike -e-Pattan wild life Sanctuary in located in  
 (a) Patiala  (b) Taran -Taran   
 (c) Abohar  (d) Hoshiarpur  
106.  Who was the first Indian woman President of the 

Indian National Congress?   
 (a) Annie Besant  
 (b) Vijaya Lakshmi Pandit  
 (c) Kasturba Gandhi  
 (d) Sarojini Naidu  
107.  Who gave the slogan – ‘Jai Hind’?  
 (a) Subhash Chandra Bose  
 (b) Jawahar Lal Nehru  
 (c) Moti Lal Nehru  
 (d) Mahatma Gandhi  
108.  Which was the first Indian newspaper that was 

printed ?  
 (a) The Hindu  
 (b) The Bengal Gazette  
 (c) The Anand Bazaar Patrika  
 (d) The Times of India  
109 . Where is Anglo Sikh wa r memorial situated in 

Punjab.  
 (a) Ferozepur  (b) Ropar  
 (c) Mansa  (d) Moga 
110.  Which city covers maximum forest area?  
 (a) Batala  (b) Ferozpur  
 (c) Taran -Taran  (d) Hoshiarpur  
111.  Who was the pioneer of the western system of 

educt ion in India ?  
 (a) Dayanand Saraswati  
 (b) Lala Lajpat Rai  
 (c) Raja Ram Mohan Roy  
 (d) Surendranath Bannerjee  
112.  Who was the last Viceroy of India?  
 (a) Lord Linlithgow  (b) Lord Mountbatten  
 (c) Lord Wavell  (d) Clement Attlee  
113.  Which is the Cash Cro p of Punjab  
 (a) Wheat  (b) Cotton  
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 (c) Maize  (d) Rice 
114.  How many canal systems are there in Punjab?  
 (a) 6 (b) 7 
 (c) 8 (d) 9 
115.  Who propounded the Panchsheel principles?  
 (a) Mahatma Gandhi  
 (b) Lord Buddha  
 (c) Pandit Jawaharlal Nehru  
 (d) Swami Day anand Saraswati  
116.  Which one of the following pair is not correctly 

matched ?  
 (a) Harshvardhan – Hiuen Tsang  
 (b) Akbar – Todarmal  
 (c) Chanakya – Chandragupta  
 (d) Vikramaditya – Chaitanya  
117.  Article 14 of the Indian Constitution guarantees 

Indian ci tizens:  
 (a) Equal protection of laws  
 (b) Equality before law  
 (c) Equal distribution of economic resources  
 (d) Equality before law and equal protection of 

the laws  
118.  In which year Shagun Scheme was launched by 

Punjab government?  
  (a) 1891 -92 (b) 199 7- 98 
 (c) 2001 –02 (d) 1987 -88 
119.  Who was first speaker of Punjabi legislative 

assembly?  
 (a) Baba Ala Singh  (b) Balram Jakhar  
 (c) Baba Kharak Singh  (d) Kapur Singh  
120.  Which Article of the Indian Constitution includes 

the Fundamental Duties of the In dian citizens?  
 (a) Article 50A  (b) Article 50B  
  (c) Article 51A  (d) Article 51B  
121.  Which Amendment of the Indian Constitution 

inserted the two words – ‘Socialist’ and ‘Secular’ 
in the Preamble ?  

 (a) 28th  (b) 40th  
 (c) 42nd   (d) 52nd  
122.  From where di d the Nirankari Movement 

originated  
 (a) Moga (b) Amritsar  
  (c) Rawalpindi  (d) Karrachi  
123.  When was the battle of Bhangani Fought?  
 (a) 1567  (b) 1686  
 (c) 1688  (d) 1789  

124.  Which constitutional Amendment deleted the 
Right to Property from the list of F undamental 
Rights?  

 (a) 42nd Amendment  (b) 62nd Amendment  
 (c) 44th Amendment  (d) 43rd Amendment  
125.  The Election Commission is established under 

the Article  
 (a) Article -355  (b) Artacie -256  
 (c) Article -324  (d) Article -320  
126.  India successfully test -fi red its home -grown long 

range intercontinental ballistic missile (ICBM) 
Agni -IV in which coast?  

 A. Karnataka  B.  Odisha  
 C. Gujarat  D.  Tamil Nadu  
127.  India -Oman joint military exercise Al -Nagah -II 

2017 held in ___________.  
 A. Karnataka  B. Odisha  
 C. Andr a Pradesh  D. Himachal Pradesh  
128.  Which amendment of the constitution lowered 

the voting age from 21 years to 18 years ?  
 (a) 64th Amendment  (b) 60th Amendment  
 (c) 61st Amendment  (d) 63rd Amendment  
129.  Who was the first woman Chief Minister of a 

Stat e? 
 (a) Sarojini Naidu  (b) Vijaya Lakshmi Pandit  
 (c) Sucheta Kripalani  (d) Jayalalithaa  
130.  One of the following is the smallest (area -wise) 

Lok Sahha constituency in India:  
 (a) Chandni Chowk  (b) Delhi Sadar  
 (c) Kolkata North -West (d) Mumbai South  
131.  Who got Golden Peacock Innovation Award 

recently?  
 A. Tata Steel Joda Mine  
 B.  Godrej Industries  
 C. Ashok Leyland  
 D.  Larsen And Toubro industries  
132.  Which of the following institution received the 

Nobel Peace Prize recently?  
 A. UN Refugee Agency  
 B.  ICAN 
 C. American Civil Liberties Union  
 D.  ECOWAS 
133.  Section of IPC, which deals with LGBT (Lesbian, 

Gay, Bisexual and Transgender) community is :  
 (a) 377  (b) 376  
 (c) 370  (d) None of these  



                                                    PPSC T est -05                     
--------------------------------------------------------------------------------------------------------------------------------------- 

 
I.B.S. Registered Office: SCO. 108-109, Sector-8C, Madhya Marg, Chandigarh. Ph: 092161-78310 

Head Office: SCO. 134-135, Top Floor, Sector 34-A, Chandigarh. Ph: 093160-68310 
Corporate Office: A-45-46, Near Nirman Vihar Metro Station, Laxminagar, New Delhi. Ph: 092666-78310 

- 12 - 

134.  Bulk of natural rubber in India is produced in  
 (a) Andhr a Pradesh  (b) Kerala  
 (c) Karnataka  (d) Tamil Nadu  
135.  Which country wins award for putting high effort 

to combat Illegal Wildlife Trade?  
 A. Singapore  B.  Spain  
 C. India  D.  Russia  
136.  Which State possesses biggest coal reserve?  
 (a) Bihar   (b) Jharkha nd  
 (c) Madhya Pradesh  (d) Orissa  
137.  The oldest oil –field in India is in  
 (a) Haldia  (b) Bombay High  
 (c) Neyveli  (d) Digboi  
138.  Which among the following is not one of the 

important gold mines in the country ?  
 (a) Kolar  (b) Hospet  
 (c) Ramgiri  (d) Hu tti  
139.  The Union Government has launched CPS 

programme to deal with autonomous unmanned 
vehicles. What does 'CPS' stands for?  

 A. Cyber Physical Science  
 B.  Cyber Physical Systems  
 C. Cyber Physical Security  
 D.  Cyber Physical Securitization  
140.  Who amo ng the following is the only Indian 

female badminton player to win singles gold in 
Commonwealth Games history?  

 A. Sayali Gokhale  B.  Arundhati Pantawane  
 C. PV Sindhu  D. Saina Nehwal  
141.  Which one among the following industries is the 

maximum consumer of water in India?  
 (a) paper and Pulp  (b) Thermal Power  
 (c) Engineering  (d) Textile   
142.  Where was the first cotton mill in India 

established?  
 (a) Surat  (b) Mumbai  
 (c) Ahmedabad  (d) Coimbatore  
143.  The iron and steel industries at Bhilai, Durgapur 

and Rourkela were set up during the  
 (a) II Five Year Plan  (b) I Five Year Plan  
 (c)  III Five Year Plan  (d)  IV Five Year Plan  
144.  Which countries will reach the top position 

among the world's fastest -growing major 
economies in 2018?  

 A. Ethiopia  B. Bhutan  
 C. India  D. Philippines  

145.  India’s Largest Tricolour Hoisted on Tallest Flag 
Post at Attari Border inaugurated by _______ .  

 A. Cabinet Minister of Punjab  
 B.  Defence minister of India  
 C. Home minister of I ndia  
 D. Finance minister of Punjab  
146.  Indi a has the monopoly in the International 

market in the supply of   
 (a) Iron  (b) Mica  
   (c)  Bauxite  (d) Copper  
147.  The Jawaharlal Nehru Port is located at  
 (a) Paradip  (b) Cochin  
 (c) Mumbai  (d) Kolkata  
148.  Which National Highway is called Shershah Su ri 

Marg ?  
 (a) National Highway No. 3  
 (b) National Highway No. 8  
 (c) National Highway No. 7  
 (d) National Highway No. 1  
149.  Which amongst the following States/UTs has no 

identified tribal community?  
 (a) Uttar Pradesh  (b) Orissa  
 (c) Andhra Pradesh  (d) Delhi  
150.  Which scientist from Punjab was given National 

Award during National Science Day 2018?  
 A) Arun Kumar Grover  
 B) Gurdev Khush  
 C) Dr. Raghbir Singh Khandpur  
 D) Gurcharan Singh Kalkat  
151.  Punjabi has become third most common 

language in the Par liament of which country?  
 A. Pakistan  B.  England  
 C. Canada  D.  Australia  
152.  Which of the following states has international 

borders with three countries?  
  (a)  Arunachal Pradesh  
 (b) Jammu and Kashmir  
 (c) Assam  
 (d) Mizoram  
153.  The Union territor y of Puducherry does not have 

a common boundary with  
 (a) Andhra Pradesh  (b) Kerala  
 (c) Karnataka  (d) Tamil Nadu  
154.  The largest Union Territory of India is  
 (a) Chandigarh  
  (b) Puducherry  
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 (c) Andaman and Nicobar Islands  
 (d) Lakshadweep  
155.  The world's first 5G commercial chip is unveiled 

by ___________. 
 A. Toshiba  B. Qualcomm  
 C. Intel  D. Huawei  
156.  Which state bags 'Water Digest Award' for best 

water conservation and irrigation facility?  
 A. Haryana  B. Rajasthan  
 C. Jharkhand  D. Chhattisgarh  
157.  When too much money is chasing too few goods, 

the situation is  
 (a) Deflation  (b) Inflation  
 (c) Recession  (d) Stagflation  
158.  Stagflation refers to a situation which is 

characterised by  
 (a) stagnant employment and deflation  
 (b) deflation and risi ng unemployment  
 (c) inflation and rising employment.  
 (d) inflation and rising unemployment  
159.  With which form of economy is the term ‘Laissez -

faire’ associated ?  
 (a) Capitalist economy  
 (b) Socialist economy  
 (c) Mixed economy  
 (d) Command economy  
160 . The theme of the 9th edition of Women's Film 

Festival 2018 is?  
 A. Travelling Women  
 B.  Meet with Yourself  
 C. Learn to Live  
 D.  Take Freedom  
161.  The balance of payments of a country is in 

equilibrium when the  
   (a) demand as well as supply of the dom estic 

currency are the highest  
  (b) demand for the domestic currency is equal to 

its supply  
 (c) demand for the domestic currency is the 

highest  

 (d) demand for the domestic currency is the 
lowest  

162.  Which amidst the following is not a credit rating 
agency ?  

 (a) CRISIL  b) CARE 
 (c) ICRA (d) IFCI  
163.  Nature of unemployment in agriculture in India 

is  
 (a) only seasonal  (b) only disguised  
 (c) Both (a) and (b) (d) None of the above  
164.  The bank cheques are processed by using  
 (a) OCR (b) MICR 
 (c) OMR (d) PMR 
165.  Which of the following is a part of tertiary sector?  
 (a) Power and transportation  
 (b) Animal Husbandry  
 (c) Cotton manufacturing  
  (d) Cultivation of crops  
166.  A high Statutory Liquidity Ratio (SLR)  
 (a) restricts lending  
 (b) increases  supply of cash  
 (c) provides funds to the state  
 (d) increases the strength of the banks  
167.  Regional Rural Banks are sponsored by  
 (a) Nationalised Commercial Bank  
 (b) Reserve Bank of India  
 (c) State Bank of India  
 (d) Government of India  
168.  On which date, Ayushman Bharat Diwas is 

celebrated in India?  
 (a) April 27  (b) April 29  
 (c) April 28  (d) April 30  
169.  The 2018 International Dance day is observed on 

which date?  
 (a) April 29  (b) April 28  
 (c) April 30  (d) April 27  
170.  Which state to host the International Children’s 

Theatre Festival 2018?  
 (a) Uttar Pradesh  (b) West Bengal  
 (c) Madhya Pradesh  (d) Kerala 
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Answer Key  
 

1 2 3 4  5  6  7  8  9  10  11  12  13  14  15  16  17  18  19  20  

d c a b a d b c c d a d b c d a b c d c 

21  22  23  24  25  26  27  28  29  30  31  32  33  34  35  36  37  38  39  40  

b c b d b a b d b c b d d a a a c d c b 

41  42  43  44  45  46  47  48  49  50  51  52  53  54  55  56  57  58  59  60  

d c b c c c c d c b d a c a b c c b d c 

61  62  63  64  65  66  67  68  69  70  71  72  73  74  75  76  77  78  79  80  

c d b d d a b c d c c d a a b d e d d d 

81  82  83  84  85  86  87  88  89  90  91  92  93  94  95  96  97  98  99  100  

b d d d d d d c d a d c a d c c c b c d 

101  102  103  104  105  106  107  108  109  110  111  112  113  114  115  116  117  118  119  120  

b c b b b a a b a d c b b a c d b b d c 

121  122  123  124  125  126  127  128  129  130  131  132  133  134  135  136  137  138  139  140  

c c c c c b d c c a a b a b c b d b b d 

141  142  143  144  145  146  147  148  149  150  151  152  153  154  155  156  157  158  159  160  

b b a c a b c d d c c a c c d d b d a a 

161  162  163  164  165  166  167  168  169  170  
 

b d c b a a a d a b 

 
 


